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~ S§SC CHSL (10+2) 2022

* Among P, Q, R, S and T, S is older than R but not as older as T, Q is older

than only P. Who istlwam%mg them?
° D, ,17,S)3ﬁw 'S, RUTSTE 5 T e s=r T8 2, Q Tt
[ Y 9o BICT hid g )

D.None of these




SSC CHSL (10+2)
¢ ]% (Brackets)- hIge
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*) (Division)- _ ‘JZIFT\/
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A (Addition) - EﬁEJ

oy (Subtraction) - udlol\/
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SSC CHSL (10+2)

® [f + means X, - means <+, X means -, =~ means +

® Then

© Afe T 3 £, - 1 3 +, x T 3 -, + hT AL B+
\

o fhy

.81
B.79

D.None of thesel




SSC CHSL (10+2)

* If P means X. Q stands for ~. R means + and S means —

« afi p o1 375 2001 Q)T 319 2 @ AR IS 1 9 By
®* 544Q32R13P7S18

A.108
C.118
D.192




SSC CHSL (10+2)

* (i) P x Q means P is divided by Q. P x Q &I 31U & Teh P, Q ¥ [T |
® (ii) P — Q means P is added to Q. P — Q &7 372 B {6 P =hT Q H ST 74T 2

* (iii) P + Q means Q is subtracted from P. P + Q 3Tid Q &l P ¥ T T3 €|
* (iv) P + Q means P multiplied by Q. P + Q 3T 372 & P 3l Q ¥ T[0T STl

®* 18-6+8x4=777

8+(—%—4 {' ” \} * | (r22)

B.6
C.38
D.4




SSC CHSL (10+2)

®* (1) P x Q means P 1s divided by Q. P x Q rl % P, Q § Tol |
® (ii) P — Q means P is added to Q. P — Q &7 372 B {6 P =hT Q H ST 74T 2
* (iii) P + Q means Q is subtracted from P. P + Q 3Tid Q &l P ¥ T T3 €|
* (iv) P + Q means P multiplied by Q. P + Q 3T 372 & P 3l Q ¥ T[0T STl
® 20+10+8=7?7?




SSC CHSL (10+2)

* (i) P x Q means P is divided by Q. P x Q &I 31U & Teh P, Q ¥ [T |
® (ii) P — Q means P is added to Q. P — Q &7 372 B {6 P =hT Q H ST 74T 2
* (iii) P + Q means Q is subtracted from P. P + Q 3Tid Q &l P ¥ T T3 €|
* (iv) P + Q means P multiplied by Q. P + Q 3T 372 & P 3l Q ¥ T[0T STl

* 16+4xM=8
® Then M=???

C.6
D. 12




SSC CHSL (10+2)

®* If M means+ , R means +, T means -, and K means x , then.

o qfie M AT 3T  RFTHA+, THT 3T -, IIRK HT A x 2,
* 20R16K5M10TS

} | /@/—
P4 U Yy S C.12 |
T \/ D.None of these |




SSC CHSL (10+2)

* The following equation will become mathematically correct when you

interchange either the signs or the numbers. Select the correct option.

o TtoIitgd T ieRLor T &9 | 921 81 TR STd 3719 I7 d1 fa=at 1 913l )
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SSC CHSL (10+2)

* If X means +, Y means -, Z means =+ and P means X.

o gfa X 1 379 +, Y 1 379 -, Z 7 379 = 3T P k1 379 x R
* 10P2X5Y5




SSC CHSL (10+2)

®* If + means +

® _means X
® --means —

® X means +

® Then 8+6+4-7x%3
¢ .5
R— EXF3
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SSC CHSL (10+2)

® [f + means -, -means X, X means + and =~ means +
o T + T 3T -, - T 3T x, x T 3 + IR~ I 37 + 7
® 2+6X6+2

D. 10




SSC CHSL (10+2)

® [f M means X, R means -, K means + and B means +

o Jfd M T 37 x, R AT 3 -, K T 37 + T B A1 370 + 8
*24B4M8K6R4=2

A.50
B. 52
C.54
D.None of these |




SSC CHSL (10+2)

* If $ means +, # means -, @ means %, X means ~+

o Jfe § ot 37 +, # 1 37 -, @ T 3T x, Kk HT 37+ ®
* 16S4@5#72*8

&

C.25
D.36




SSC CHSL (10+2)

® [f'A' stands for '-', 'B' stands for '+, 'C' stands for '+' and 'D' stands for 'x', then

* Fic'A' T 3 !, 'B' T 3 '+, 'C T Y '+ D H AL X' B Al

*28D25B1C35A2
B.677

C.735
D.675 |




SSC CHSL (10+2)

* [f + means +, - means X , +~ means + and X means - , then solve the question-

°aﬁ+waﬁ+,-wa¢%ﬁx,+waﬁ+aﬁtxwaﬁ-,ﬁwﬁw?ﬁﬁ@

®* 40+10-4+-15x18=7

$/§~}6x¢+l§ 13

- _ A.15
”L \2. | — 15— @ \/B. N

D. 10




~ S§SC CHSL (10+2) 2022

* If A means -, B means +, C means + and D means X Then

*ISB3C24A12D?2

D.None of these




SSC CHSL (10+2)

* If K means +, R means X, T means -, and J] means +,Then

*40T 120K 60 R 8 J 12




SSC CHSL (10+2) 2022

® If '+'1s written as '+', 'x' as '+', '+' as '-' and '-' as 'x', then solve the given

equation.

cafy o HRIG 4, o0 FRIG e, FRIo s Hf o e d

&1 TS GHIRTUT Rl 8 shifSTU)
®20x4+5+5+10=72

A.10
B. 12
C.15
D. 18



